8 Fnresn (FRENE) R

O£ & 0 45 £
(ENAE - HD)
TH H i
N R 4 L W 4y 4 AR 53 T 24
X 73
= VEY v e 2,188,259 2,188, 259
F LG E 10,841,409 10, 841, 409
Y VED) $ v hE 224, 300, 55 2 224,300, 552
B 25 hE a4t w T 763, 550, 248 164, 459,700 164, 459, 700
ORISR A B RO @ ALy 5,
(1) E1EmILHEEE
] 43422, 188, 2591 Z L TERE SLA42IT1, 458, 8391 | KRRIFE 3742127 29, 4201 (HA7 : )
TH H TR TERE N4 FERRENT 4> o
X 57 =10 BE e L
= AEW AL e 1, 458, 839 5, 253, 837 729, 420 17,986,568
(2) FEHILFHE
WO 434510, 841, 4091 VETEFE ST 43125, 420, 7051 . HeRllfE S7.45125, 420, 704
IH H 1L ERE L4 RIS 4 —
X 7 1 REt e 2t
F e L E 5,420, 705 7,852, 492 5,420, 704 7, 852,49 1




(3) JMHEMmILE e
W 4345224, 300, 552 [ & VEE FE 4T 112, 150, 2761 . i BIFSS7 42 12112, 150, 2761 (WAL 2 )
H H TETERE NLA FERIUREST 4 T
X 57 S| REF e L
T VEY) S e 112, 150, 276 139, 420, 268 112, 150, 276 245,192,215
(4) Fhak FE
W 42164, 459, 700 [ 2 #8i8k A2 476 3, 550, 24 8FIZHRY 35, (HA7 1)
T8 H TETERE NLA FERIREST 4 T
]
X va Y REt Y 2 EF
Bl 2= At v e 0 0 0 0
A~ B & N B OE
(spr )
TH H o W 44
2 TN LA
X 4 O N T L ESYS AAER A 4 i Bl
1%%#5(%@373? A 3,390, 311 3,390, 311
R ER R4 2 TRt il AL 3 5, (HA7 2 )
HOOH| mEe ) TN 4 s .
= 7 E N7 EE N2 AT SETIZN
(T B 3L ) 3,390,311 3,390,311 0




